POWER SYSTEM ANALYSIS —1 FIRST MIDTERM EXAM
Dr. Salih FADIL July 13, 2011

#1) Consider a single phase load with an applied voltage v(#}=150co0s(w +107) volts and
load current i(f) = 5cos(amr —50") A,

4, 'i“‘”,.r-} a) Find the power factor, specify whether it 1s lagging or leading.
G - b) Determine the active and reactive power absorbed by the load.

¢) Calculate the reactive power supplied by the capacitor in parallel
with the load that correct the power factor to 0.9 lagging.

d) Assume that the voltage across the load 1s kept constant.
Calculate the capacitance value of the capacitor mentioned 1n part
¢. Take the frequency of the supply voltage as 50 Hz.
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#2) The three phase system shown in the figare is balanced and
v, ()= J2 380 cos{wt +90°) volt. By using one line to neutral equivalent circuit, find;

a) / and V phasoral values shown in the figure ,
b) three phase complex power delivered by the source.
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#3) The real power delivered by a source to two 1mpedances Z =3+ 740 and Z, =100

connected in parallel, is 1100 . Determine
a) the real power absorbed by each of the impedances
b) the rms source current

GOOD LUCK.....@
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